Two-Post Rail Kit

Kit de Rail a Deux Montants | Zweistangiges Schienenset | KomnnekT u3 AByx cToek ¢ Hanpasnaiowmmy | Juego de Rieles de Dos Postes | A S E 4 | Pyl iz {§ | 2-Post dl 3| E | KR ML —IbFv F2{E

Q
Q

1
o)

Position the rails

NOTE: The instructions are the same for square-hole racks and
unthreaded, round-hole racks. The rails fit both rack styles. The
square-hole rack is shown in the illustration.

1. Select the proper holes in the rail for positioning the cabinet in the
desired location in the rack.

The rails should be located at the bottom of the 4U space allocated
for the UPS or 3U for the External Battery Module.

2. Position the end of the left and right rails labeled L and R facing
inward.

Positionnement des rails

REMARQUE : Les instructions sont les mémes pour des baies a trous
carrés et les baies a trous-ronds non filetés. Les rails s’adaptent
aux deux styles de baies. La baie a trous-carrés est montrée sur
I'illustration.

1. Sélectionnez les bons trous dans le rail pour positionner le module a
I'emplacement souhaité dans la baie.

Les rails doivent étre placés en bas de I'espace 4U alloué a I'onduleur
ou 3U pour le Module de Batterie Externe.

2. Positionnez |'extrémité des rails gauche et droit marquée L et R vers
I'intérieur.

www.dell.com | support.dell.com

Positionierung der Schienen

HINWEIS: Fiir Gestelle mit quadratischen Offnungen und Racks mit
runden Offnungen ohne Gewinde gelten die gleichen Anweisungen. Die
Schienen passen zu beiden Gestellarten. Auf den Abbildungen ist das
Gestell mit den quadratischen Offnungen zu sehen.

1. Wihlen Sie die korrekten Offnungen in der Schiene aus, um das
Gehéause wie gewiinscht im Rack zu positionieren.

Die Schienen sind im unteren Bereich des fiir die USV vorgesehenen
4U-Raumes oder des fiir das externe Batteriemodul (EBM)
vorgesehenen 3U-Raumes anzuordnen.

2. Richten Sie das Ende der linken und rechten Schiene mit der
Aufschrift L und R nach innen aus.

PacnonoxuTte Hanpasnawowme

MPUMEYAHWE: NHCTpyKumm no paboTe Co CToMKamm

C KBaZpaTHbIMU OTBEPCTUAMU U CTONKaMK C KPYrbiMA
6e3pe3b60BbIMU-0TBEPCTUAMU OAMHAKOBbIE. HanpasnatoLwme
noaxonAT AnA obomx BuaoB ctoek. CTonka ¢
KBaZpaTHbIMU-OTBEPCTUAMM NokKasaHa Ha pUCYHKe.

1. BoibeprTe Hagnexalume oTBEPCTUA B HANPABAOWMX A5A
pasmMeLleHus Kopryca B XellaeMOM MeCTe CTOWMKW.

Hanpasnatowme [on>KHblI HAXOAUTLCA B HUXHEWN YacTu 30Hbl
4U, sbigenenHon aona MBI, unu 3oHbl 3U, BblaeneHHon ansa
BHELLUHEero 6arapenHoro Moayna.

2.llomecTuTe KOHUbI NpaBoi 1 NEBOW HaNpaBnALWMX C
mMeTKamu L n R BOBHYTpb.

Como Colocar los Rieles

NOTA: Las instrucciones son las mismas que para los bastidores de
orificios cuadrados y los bastidores de orificios redondos- y sin rosca.
Los rieles sirven para ambos estilos de bastidores. En las ilustraciones,
se muestra el bastidor con orificios- cuadrados.

1. Seleccione los orificios adecuados en el riel para posicionar el
gabinete en la ubicaciéon deseada en el bastidor.

Los rieles deben ubicarse en la parte inferior del espacio 4U
designado para el UPS o 3U para el Mddulo de bateria externa.

2. Coloque el extremo de los rieles derecho e izquierdo con la etiqueta R
y L hacia adentro.

REHIFEL
EE: FILERERUE-FLLLRRIERAER . SHEATF
XPHALLE. B o AR LA

1 EREIMPEENIL, ENHEEMTNRFAENMLE-

SN FHERL UPS B 4U =88] i 3R ak 4 AL 28 JNER B th A5 3R
B 3U ZEEER.

2. AEARERE “E2” L f“F” R NEAFHB—ik.

e et
31?{,“ EIES ° s Bl -4 R o

1. F’—‘@%EUS‘“ > SRS AT LB S ﬁ"fﬁ" .
éﬁ;gijﬁ”nggffﬁ UPS fiv 4U % éﬂi‘ﬁf‘fﬂﬁ%’} El?lﬁ’xﬁfﬁ ﬁf?jy&p FH
FY 3U 2 [ H]S -

2ORPEY T AT (R P T B R

dled !Xl 35t2]

0 AR PY 2D LEANM Sle E-TY 20 o) XA
SABLCH LS & BRY 20| 2F LSLICH M-
22 JYNAM 2 = 9

1B S el dots ?/AX0 €XE = UA=S ALl A
il

4 1
30
b 0
-
o

MYs PYS HEBIAAIR
dle2, A& Hieel 22 B2, UPS &= 3U0 &Y & 4U
22t HHE Ul ?IXIoH0F &L C.

2.L ¥ RE EAIE do £RH0| &HZE = &otH &LICH

L—IVOEeE

ARS EARDTVP X VELNHE-RDTY 71T NTCFIE
BCTY, L—IEHEADZ Y IAZAIVISEELE T, K&k, ™
BE-ORBDZY7ZERLTVET,
1.L—IV EOBYENEED. TV Y LOFLTHAUBICFvEXR
v EEBELET,
L —IUIE UPSITHBAUDANR—R K feldMSI /N 71—
V31— )UIHBIUDAN—ADEICERELE T,

2. LBEURESNIVRRENTWBEAIS LUERIDL — LDl
HRBNCR<BICERRELE T,



K

_/

Attach the rails to the rack

1. Adjust the rail so that the flanges fit outside the C-shaped
vertical rail.

2. Secure the rail using the supplied #12-24 Phillips®-head screws
(four for each rail). Use the bottom two holes for the front of the rail.
Use the second and fourth holes for the back of the rail.

NOTE 1: If the vertical rail has square holes, use a square nut
(not supplied) with the supplied #12-24 Phillips-head screw.

NOTE 2: Refer to the UPS documentation for installing the UPS in
the rack.

Fixez les rails a la baie

1. Réglez le rail pour que les bords s'emboitent a I'extérieur du rail
vertical en forme de C.

2. Fixez le rail en utilisant les vis a téte Phillips® n°12-24 fournies (quatre
pour chaque rail). Utilisez les deux trous inférieurs pour I'avant du
rail. Utilisez les deuxiéme et quatriéme trous pour I'arriere du rail.

REMARQUE 1: Si le rail vertical a quatre trous carrés, utilisez un écrou
carré (non fourni) avec la vis a téte-Phillips n°12-24 fournie.

REMARQUE 2 : Reportez-vous a la documentation de I'onduleur pour
installer I'onduleur dans la baie.

Information in this document is subject
to change without notice.
© 2009 Dell Inc. All rights reserved.

Reproduction in any manner whatsoever without the
written permission of Dell Inc. is strictly forbidden.

Dell and the DELL logo are trademarks of Dell Inc.

Dell disclaims proprietary interest in
the marks and names of others.

June 2009 ¢ 164950236 Rev 1

www.dell.com | support.dell.com

Anbringen der Schienen am Gestell

1. Stellen Sie die Schiene so ein, dass die Flansche auflen auf die
C-formige senkrechte Schiene passen.

2. Sichern Sie die Schiene mithilfe der enthaltenen
Kreuzschlitzschrauben Nr. 12-24 (vier fiir jede Schiene). Verwenden
Sie die unteren beiden Offnungen fiir die Schienenvorderseite.
Verwenden Sie die zweite und vierte Offnung fiir die
Schienenriickseite.

HINWEIS 1: Wenn die senkrechte Schiene rechteckige Offnungen
aufweist, eine Vierkantmutter (nicht enthalten) fiir die beilieigende
Kreuzschlitzschraube-Nr. 12-24 verwenden.

HINWEIS 2: Eine Anleitung fiir den Einbau der USV in das Gestell finden
Sie in der Dokumentation zu der USV.

MpukpenuTe HanpaBnAlOLWMWe K CTOUKe

1. YcTaHoBMTE HanpaBnALLYO Taknum 06pasoM, YTOobbI
hnaHupl 3awWwum 3a BepTukasnbHyto periky B doopme byksbl C.

2. 3akpenuTe HanpasAoLLY NPy NOMOoLM BUHTOB Ne12-24 ¢
ronoskoi Phillips®, koTopble BXOAAT B KOMMMEKT NOCTABKM
(4eTblpe Ha Kaxkayto HanpasnAwLwwyo). [nA nepeaHen 4actu
HanpaBnALWEN UCNONb3YNTe ABa HUXKHUX OTBEPCTUA.
Mcnonb3yiiTe BTOPOE 1 YeTBEPTOE OTBEPCTMA ANA 3a4HEN
YyacTu HanpaBnALLEN.

MPUMEYAHWE 1: Ecnu B BEpTUKaNbHOWN CTOMKE OTBEPCTUA
KBagpaTtHom hopMbl, UICNOMb3YNTE KBaApaTHYO ranky (B
KOMMMEKT NOCTaBKM He BXOAUT) U BUHT Ne12-24 ¢ ronoBkomn
Phillips-(BxoouT B KOMMEKT NOCTaBKK).

MPNUMEYAHWME 2: NHcTpykuun no yctaHoske VIBI Ha pame
npueeaeHbl B foKymMeHTauumn K VBIT.

Como Sujetar los rieles con el bastidor

1. Ajuste el riel de modo que las pestafias encajen fuera del riel vertical
en forma de C.

2. Asegure el riel con los tornillos de cabeza Phillips® #12-24
suministrados (cuatro para cada riel). Use los dos orificios inferiores
para el frente del riel. Use el segundo y el cuarto orificio para la parte
posterior del riel.

NOTA 1: Si el riel vertical tiene orificios cuadrados, use una tuerca
cuadrada (no provista) con el tornillo de cabeza Phillips #12-24
-suministrado.

NOTA 2: Consulte la documentacion del UPS para instalar el UPS en el
bastidor.

HRRNERINEL
1 AESH, UEREE ¢ REESHMNIIMNIESH.

2. FIRME #12-24 Phillips” +FLEZT( EMSFHMm )
EESH. SHNAMRERRKBHIRITIL. FHERERE=
MEmEL.

AR MREESHAFFIL, WHRMER #12-24 Phillips-
+3 L BURSTED B A AR ( KiRME ).

EE 2: S UPS I THAXENRFZE UPS BIESR.

AEEF T
1L OB (T C IS [t BT £, -

2. (R IY #12-24 Phillips®™ - PFifglE" (2 [ ) fhltad
o gﬁ}hmfﬁ”ﬁ, 2] J’E‘Ejﬁﬂfﬁjﬁxj 3= ."‘g’;ifl%ﬁg;ﬁl [ VR
e

TR L PP Ly SR P TSR O $12-24 Phillips-
PRI A RS (R -
L2 ¢ iR UPS ¥ et Jﬁjﬁ.‘iﬁ&;@,{IH B AE UPS [igyai o

o
o
o
it

o 2

o >
>y

= B
02 02 > o O

)

4 =

#12-24 Phillips®-ollS AT R (2 HLE22 40H)
[e]

dlgdsS DI SLICH dlY 2HS ol ot 2K

0 Mo gy rin

> N
PN
gy
oz

L]
oo
N

AL,
UPSE =0l £XIot)| ?IoH UPS EAME & 1GHYAIL.

L—ILEZ I |CBRIST5AE:

1. 720V COFELIZEEL —)LOAICTIEER RS —ILE
FEILE T,

2. FERD#12-24 Phillips" 75X 2% (L —)VICME) ZfEo>TL—
IWEBEELE T, L—IVDRTAICIE FERD2 DD EFERLT
FEEW, L—ILDEFITIE 2BB LABB D EFERAL T
TN

AR BEL—IVICEBEDNNHOH S5 E. FIRDH#12-24 Phillips

TIAXTEMAR-OFy b (BTN TOWEEA) ZFERLTLE

_Lk(l\o

5821 T 7ICUPSZEIF AICIE UPSDERAE Z &8
&N,



